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3.448 m3 = ((1.500 * 1.150 — 0.001) * 2.000) + (1.500 * 1.150 * (0.000 + 0.000 + 0.000))
B AL 1 |FEREEE = AR X BEAi X (ETIERE + RIEE + RIEE + MEIER)
(EliEEHEHI) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
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T T &% E & H& iR X )
RETEEEES . 20000300 [ L #)&EHE]
| T@s&s | 02 | TI#EE# |ORBKEXEISETSVPH30 - +rES | oo | —t&#% [zotd#EglE (1200)
JEFE R IEI Gl B JL - Hl / it B M
kA5 1 | = SR g
(ElZE9m ) 0.150 m3 = 0.150
Ay )E 1 | FE = A LS
(FEHI) 0.720 m3 = 0.720
kA5 2 &&= WHIE2E L&
(HEHI) 3.448 m3 = 3. 448
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T I & 2 ¢+ E & (8 & % )
BEESEES . 20000300 LW EEEE]
THEES | 04 | ITEEW |[REBKEIE = [ of | W—tr2%H |[Rit)BUR)
& FE ) EH T A
A B 1 R = (ETHEE + ARVIER + AREE + MEER) + (KRG - MW@ mbg) X FmEmiL) X Gk
18.000 m = ((4.500 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 4.000
A B 1) 1 [HE = @HE X BEh X (ETER + AREE + ABER + MEALER)
0.450 m3 = 1.000 * 0.100 * (4.500 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
4.050 m3 = 1.000 * 0.900 * (4.500 + 0.000 + 0.000 + 0.000)
AR (H 1 [BE = wlE X (ETHER + AREE + AWER + MEALER)
4.500 m2 = 1.000 * (4.500 + 0.000 + 0.000 + 0.000)
HEHIHD B L 1 [ = Wl X B4 X (ETHER + AREE + AER + MALER)
3.375 m3 = 1.000 * 0.750 * (4.500 + 0.000 + 0.000 + 0.000)
%05 1 B = ahEmE S UE R
(2R H) 0.450 m3 = 0. 450
7% 1 [BE = mEE U8 R
(B H) 4.050 m3 = 4. 050
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T I % E %+ 8 &8 (& # % )
BEHEEEES - 20000300 4 HEEEE]
| IEEE [ o4 | TmE&% |[EH#KkEIE = [ 02 | wW—r&#H [EEs#3%G400)
& R EHEEEEEEEE A S
it 1) 1 [BcR = EIE X 24 x (ETEE + 2EERE + RAIEER + MEEE)
0.756 m3 = 0.600 * 0.420 * (3.000 + 0.000 + 0.000 + 0.000)
AR IH 1 [%E = mhE X (ETHEE + 2EERE + RBEE + HEER)
1.800 m2 = 0.600 * (3.000 + 0.000 + 0.000 + 0.000)
S 5 L 1 [BcR = BEIE X 24 x (ETEE + 2EERE + RIEER + MEEE)
0.486 m3 = 0.600 * 0.270 * (3.000 + 0.000 + 0.000 + 0.000)
RNy 1 |[BE - BNBUELE
(B E) 0.756 m3 = 0. 756
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T I % E H H & i E Ox )
BEHEEEES - 20000300 4 HEEEE]
| IEEE [ o4 | TmE&% |[EH#KkEIE = [ 03 | wW—r&#H [EEsEEG400)
& R B i m A m S E m sk
it 1) 1 [ = mllE X Ba X (HTEE + REER + RIBEE + fEER)
0.270 m3 = 0.600 * 0.150 * (3.000 + 0.000 + 0.000 + 0.000)
i 1) 2 [ = BEIE X B4 X (FLEE + R/IBER + AEE + MEER)

0.486 m3 = 0.600 * 0.270 * (3.000 + 0.000 + 0.

000 + 0.000)

LB = R X (ETIER + RiER + sURIER + MEIER)

1.800 m2 = 0.600 * (3.000 + 0.000 + 0.000 + 0.

000)

PEHIHE O B L 1 |[ZE = WEE X BEA X (ETIERE + RIIEE + RIIERE + MEIER)
0.486 m3 = 0.600 * 0.270 * (3.000 + 0.000 + 0.000 + 0.000)
B ALy JE 1 |%&E = EEISUE LR
(HEH) 0.270 m3 = 0.270
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.486 m3 = 0. 486
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T I & 2 ¢+ E & (8 & % )
HEHEEEBS . 20000300
THEES | 06 | THEEW |[DABKEAEIBPEA) 30 = [ of | W—Fr&#H [EESIEAs(1200)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((1.500 - 1.500) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
4.500 m2 = 1.500 * (3.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
1.080 m3 = 1.500 * 0.240 * (3.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
3.195 m3 = 1.500 * 0.710 * (3.000 + 0.000 + 0.000 + 0.000)
e 3 [BcE = (REIIE x B2 - BEE) X (LTEE + MEER) + GRHIE X 84 X (RIEIER + AREE))
1.977 m3 = ((1.500 * 0.440 - 0.001) * (3.000 + 0.000)) + (1.500 * 0.440 * (0.000 + 0.000))
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
4.500 m2 = 1.500 * (3.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
4.500 m2 = 1.500 * (3.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
4.500 m2 = 1.500 * (3.000 + 0.000 + 0.000 + 0.000)
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T I % E i B iR =)
SRETETEES : 20000300 H#)RETE]
| T@&s | 06 | TIEE#M |OFBKEXEIFEPEA $30 - &S | o1 | —t&#  [EEs0EAs(1200)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
3.195 m3 = 1.500 * 0.710 * (3.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
1.977 m3 = ((1.500 * 0.440 - 0.001) * 3.000) + (1.500 * 0.440 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.225 m3 = 1.500 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.225 m3 = 0.225
B ALy JE 1 |%E = EEIEUE LR
(HEH) 1.080 m3 = 1. 080
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 3.195 m3 = 3.195
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 1.977 m3 = 1.977
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T I & 2 ¢+ E & (8 & % )
HEHEEEBS . 20000300
THEES | 06 | THEEW |[DABKEAEIBPEA) 30 = [ 02 | IW—Fr&#H [EESFFAS(800)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
12.000 m = ((6.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
3.600 m2 = 0.600 * (6.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.864 m3 = 0.600 * 0.240 * (6.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
1.116 m3 = 0.600 * 0.310 * (6.000 + 0.000 + 0.000 + 0.000)
e 3 MR = WHIE X A X (ETER + RHIER + AREE + MELER)
1.044 m3 = 0.600 * 0.290 * (6.000 + 0.000 + 0.000 + 0.000)
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
3.600 m2 = 0.600 * (6.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
3.600 m2 = 0.600 * (6.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
3.600 m2 = 0.600 * (6.000 + 0.000 + 0.000 + 0.000)
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T I % E H E & (8 &8 % )
SRETETEES : 20000300 H#)RETE]
IEES | 06 | TEEM |OXBKEXEIFEPEA $30 - &S | 02 | J—r&#  [EESERAS(800)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
1.116 m3 = 0.600 * 0.310 * (6.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
1.038 m3 = ((0.600 * 0.290 — 0.001) * 6.000) + (0.600 * 0.290 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.180 m3 = 0.600 * 0.050 * (6.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.180 m3 = 0.180
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.864 m3 = 0.864
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 1.116 m3 = 1.116
B ALy JE 3 |EkE = JEHIEE LA
(HEHI) 1.044 m3 = 1.044
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T I % E %+ 8 &8 (& # % )
BEHEEEES . 20000300
| IEEE | o6 | ITHEEH |DARBKEAEIBPEWR) 30 [L—+&E [ 03 | IW—r&# [EE5%EEG(800)
& R | i m A m S F m sk
i 1) 1 [BcR = EIE X 24 X (ETEE + 2EERE + RIEER + MEEE)
3.780 m3 = 0.600 * 0.150 * (42.000 + 0.000 + 0.000 + 0.000)
i 1) 2 [ = BEIE X B4 X (FLEE + R/IBER + AEE + MEER)
11.340 m3 = 0.600 * 0.450 * (42.000 + 0.000 + 0.000 + 0.000)
i 1) 3 [ME = EmhHIE X Ba X (FTHEEE + REERE + ARBEE + EER)
7.308 m3 = 0.600 * 0.290 * (42.000 + 0.000 + 0.000 + 0.000)
AR IH 1 [%E = mhE X (ETHEE + 2EERE + REEE + HEER)
25.200 m2 = 0.600 * (42.000 + 0.000 + 0.000 + 0.000)
SR B L 1 [BcR = B X 24 x (ETEE + 2EERE + RAIEER + MEEE)
11.340 m3 = 0.600 * 0.450 * (42.000 + 0.000 + 0.000 + 0.000)
SR B L o [BE = (GENIE x B2 - FEf) X LTEE) + GENIE X B4 X (RIEEE + ARER + MEEE))
7.266 m3 = ((0.600 * 0.290 — 0.001) * 42.000) + (0.600 * 0.290 * (0.000 + 0.000 + 0.000))
R 1 |k = REE LS i
(HEHED 3.780 m3 = 3.780
A 2 [ - mEIEE LR
(B E) 11.340 m3 = 11. 340
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T T &% E & H& i E =)
BEHEEEES . 20000300[ YR EE]
[ TE®E [ 06 | IHE&H |ORBKEAEIEPEA 30 [V -+ES [ 03 [ J—r&#  [EE5HRG(800)
[ FH A
Ay )E 3 |FiE = WEAI3E L
(HEHI) 7.308 m3 = 7.308
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T I & 2 ¢+ E & (8 & % )
HEHEEEBS . 20000300
TiEES | 08 | THEEW |[OABKEAEIEPEA) 30 = [ of | W—r&#H [d#EHE (1200
[EE] EHEEEEE A
4 B 1 [ = (ETEE + 2BVIEE + AREE + MEER) + (GEFREIE - %@ENIE X MFREITR)
8.000 m = ((4.000 + 0.000 + 0.000 + 0.000) + ((1.500 - 1.500) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
6.000 m2 = 1.500 * (4.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
1.440 m3 = 1.500 * 0.240 * (4.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
4.260 m3 = 1.500 * 0.710 * (4.000 + 0.000 + 0.000 + 0.000)
e 3 [BcE = (REIIE x B2 - BEE) X (LTEE + MEER) + GRHIE X 84 X (RIEIER + AREE))
2.860 m3 = ((1.500 * 0.480 — 0.005) * (4.000 + 0.000)) + (1.500 * 0.480 * (0.000 + 0.000))
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
6.000 m2 = 1.500 * (4.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
6.000 m2 = 1.500 * (4.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)

6.000 m2 = 1.500 * (4.000 + 0.000 + 0.000 + 0.000)
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T T % E 8 E E (fF B % )
SRETETEES : 20000300 H#)RETE]
TEES | 08 | TEEW |QFBRKEXREIEPEA) $30 - rES | oo | —r&#  [HiEYE (1200)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
4,260 m3 = 1.500 * 0.710 * (4.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
2.860 m3 = ((1.500 * 0.480 — 0.005) * 4.000) + (1.500 * 0.480 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.300 m3 = 1.500 * 0.050 * (4.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |[FE = SRS U LR
(i EEHEHI) 0.300 m3 = 0.300
B ALy JE 1 |FE = wHIEIELE
(HEH) 1. 440 m3 = 1.440
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 4.260 m3 = 4.260
B ALy JE 3 |HE = WHIEE L=
(HEH) 2.860 m3 = 2.860
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T I & 2 ¢+ E & (8 & % )
HEHEEEBS . 20000300
TiEES | 08 | THEEW |[OABKEAEIEPEA) 30 = [ 02 | J—F&% |whiE#iEk(800)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
164.000 m = ((82.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) =* 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
49.200 m2 = 0.600 * (82.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
11.808 m3 = 0.600 * 0.240 * (82.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
15.252 m3 = 0.600 * 0.310 * (82.000 + 0.000 + 0.000 + 0.000)
e 3 MR = WHIE X A X (ETER + RHIER + AREE + MELER)
14. 268 m3 = 0.600 * 0.290 * (82.000 + 0.000 + 0.000 + 0.000)
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
49.200 m2 = 0.600 * (82.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
49.200 m2 = 0.600 * (82.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
49.200 m2 = 0.600 * (82.000 + 0.000 + 0.000 + 0.000)
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T I % E H E & (8 &8 % )
SRETETEES : 20000300 H#)RETE]
[ TrEEE [ 08 | TIHEEH [QFBKEAEIFEPEA) 30 [L—rES [ 02 | JL—r&% [mhiEfEg(so0)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
15.252 m3 = 0.600 * 0.310 * (82.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
14.186 m3 = ((0.600 * 0.290 — 0.001) * 82.000) + (0.600 * 0.290 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 2.460 m3 = 0.600 * 0.050 * (82.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 2.460 m3 = 2.460
B ALy JE 1 |%E = EEIEUE LR
(HEH) 11.808 m3 = 11.808
oy Uy ] 2 |HE = wHIEE L&
(HEHI) 15.252 m3 = 15. 252
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 14.268 m3 = 14. 268
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T I & 2 ¢+ E & (8 & % )
HEHEEEBS . 20000300
TiEES | 08 | THEEW |[OABKEAEIEPEA) 30 = [ 03 | J—F&% [H#ERIET (800)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((1.000 - 1.000) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.450 m3 = 1.000 * 0.450 * (1.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
0.300 m3 = 1.000 * 0.300 * (1.000 + 0.000 + 0.000 + 0.000)
LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)
BAZE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)
TTET D 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALR)
0.210 m3 = 1.000 * 0.210 * (1.000 + 0.000 + 0.000 + 0.000)
e 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
0.300 m3 = 1.000 * 0.300 * (1.000 + 0.000 + 0.000 + 0.000)
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T T % E 8 E E (fF B % )
SRETETEES : 20000300 H#)RETE]
| T@%s | 08 | TIEE#M |@FBKEXREIFEPEA $30 - rES | 03 | J—t&#  [HESRET (800)
JEFER R & |t 3 L 15 / it 3 =
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIEEE + RIBEE + fEERE)
(Bl EEHEH) 0.050 m3 = 1.000 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |F&E = SEEEAE U LR
(EliZEHEHI) 0.050 m3 = 0.050
B ALy JE 1 |FE = wHIEIELE
(HEH) 0.450 m3 = 0. 450
oy Uy ] 2 |HE = wHIEE &
(HEH!) 0.300 m3 = 0.300
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T I & 2 ¢+ E & (8 & % )
BEESEES . 20000300 LW EEEE]
TEEES | 10 | IHBEW |[ASBKEIE = [ of | W—tr&%H |[RitdEB(K)
[EE] EH T A
] 1 [E = flliE X B2 X (ETER + AREE + AWER + MALER)
6.000 m3 = 1.000 * 1.000 * (6.000 + 0.000 + 0.000 + 0.000)
SEEE R 1 [HE = @HE X BEh X (ETER + AREE + ABER + MEALER)
0.600 m3 = 1.000 * 0.100 * (6.000 + 0.000 + 0.000 + 0.000)
HAZIE 1A 1 [k = mllE X (ETHEE + RIEE + AREE + HEER)
6.000 m2 = 1.000 * (6.000 + 0.000 + 0.000 + 0.000)
JEHIHLD B L 1 [BE = fHE X BEh X (ETER + AREE + ABER + MEALER)
4.500 m3 = 1.000 * 0.750 * (6.000 + 0.000 + 0.000 + 0.000)
7% 5y 1 [k = A UE LR
(B H) 6.000 m3 = 6.000
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T I & 2 ¢+ E & (8 & % )
HEHEEEBS . 20000300
TEES | 10 | TESAH |[ABREKEIE = | 02 | I—b&F [#EEsSERAS(800)
[EE] EHEEEEE A
A B 1 R = (ETHEE + ARVIER + AREE + MEER) + (KRG - MW@ mbg) X FmEmiL) X Gk
20.000 m = ((10.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
1. 440 m3 = 0.600 * 0.240 * (10.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
1.860 m3 = 0.600 * 0.310 * (10.000 + 0.000 + 0.000 + 0.000)
e 3 MR = WHIE X A X (ETER + RHIER + AREE + MELER)
1.620 m3 = 0.600 * 0.270 * (10.000 + 0.000 + 0.000 + 0.000)
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)
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T I % E H E & (8 &8 % )
SRETETEES : 20000300 H#)RETE]
| T@ms&s | 10 | IEE% |[AREKEIS - &S | 02 | J—r&%  [EES7ERAS(800)
JEF | & |t 3 L 151 / it B =
PEHIHE O R L 1 [%&E = WHE X BEA X (FTIERE + RIIEE + RIIERE + MEIER)
1.860 m3 = 0.600 * 0.310 * (10.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |EE = R X JBEA X (ETHER + KEER + REER + MEER)
1.620 m3 = 0.600 * 0.270 * (10.000 + 0.000 + 0.000 + 0.000)
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.300 m3 = 0.600 * 0.050 * (10.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.300 m3 = 0.300
B ALy JE 1 |%E = EEIEUE LR
(HEH) 1. 440 m3 = 1.440
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 1.860 m3 = 1.860
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 1.620 m3 = 1.620
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T I & 2 ¢+ E & (8 & % )
HEHEEEBS . 20000300
TEES | 10 | TESAH |[ABREKEIE = [ 03 | J—F&# [#EEsS#ERG(800)
[EE] EHEEEEE A
] 1 [E = flliE X B2 X (ETER + AREE + AWER + MALER)
0.360 m3 = 0.600 * 0.150 * (4.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
1.080 m3 = 0.600 * 0.450 * (4.000 + 0.000 + 0.000 + 0.000)
] 3 MR = WHIE X A X (ETER + RIER + AREE + MELER)
0.648 m3 = 0.600 * 0.270 * (4.000 + 0.000 + 0.000 + 0.000)
BAZE IR 1 [BE = wlE X (ETHER + AREE + AWER + MEALER)
2.400 m2 = 0.600 * (4.000 + 0.000 + 0.000 + 0.000)
TTET D 1 [ = Wl X B4 X (ETHER + AREE + AER + MALER)

1.080 m3 = 0.600 * 0.450 * (4.000 + 0.000 + 0.000 + 0.000)

EHIHE DR L 2 [BE = EHIE X EA X (ETER + [EIER + Rtk + MEER)

0.648 m3 = 0.600 * 0.270 * (4.000 + 0.000 + 0.000 + 0.000)

o Uy ] 1 |%&E = EEIEUE L&
(HEH) 0.360 m3 = 0.360
B AL 2 |HE = wHIEE &
(HEH!) 1.080 m3 = 1. 080
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T I % E H H & i E Ox )
SR EEEES - 20000300[ 44 EHE]
| IEEE [ 10 | T#E&% |AB0kEI=s = | 03 | W—r&#H [EEs#3%G(800)
JE FER EHEEEEEEEE A S
%0y E 3 [%E = mEHIEE R
(HEHED 0.648 m3 = 0. 648
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T I &% E & B & i E =)
BRETEEIEES . 20000300 [ H#HEE]
[ T@EE= [ 2 | I@&% [BEXREED - rES | oo | —+e%  [s#ExEE
JEFE R IEIN il B Al 15l / it B BN
(RSl 1 i = A IHmERE - A a0 m
300. 000 m2 = 300.000 — 0. 000
HEAREIR 1| FE = AEIRERE - AR i
300. 000 m2 = 300.000 — 0. 000
Ay )E 1 |&ERA G = OREIHER - araiEis) X &4
(ElZE9m ) 15.000 m3 = (300.000 — 0.000) * 0.050
Ay )E 1 | FE = SRERAIE S
CEES D) 15. 000 m3 = 15. 000
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T I &% E & B & i E =)
RETEEEES . 20000300
[ T@E= [ 13 | I@&% [BEAEIEQ - rES | oo | —+e%  [s#ExEE
JEFE R IEIN il B JL - Hl / it B BN
(RSl 1 |[BE = RERWR - s mis
58.000 m2 = 58.000 — 0. 000
HEAREIR 1 |%E = REIREEE - ek
58.000 m2 = 58.000 — 0. 000
kA5 1 [Eh2EiREI AR = OREIRWRE - (s miE) X B4
(GHAEHRH]) 2.900 m3 = (58.000 — 0.000) * 0.050
Fk 45 1 |%E = MEENEUE LR
CEES D) 2.900 m3 = 2.900
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